H17

ABACO MACHINES

OPERATION MANUAL

DOUBLE SIDED SLAB BUGGY
(DSBG1320)

ABACO MACHINES (USA)

14508 S. Garfield Ave., Paramount, CA 90723, USA
Tel : 310-532-0366 Fax : 310-532-0499
Email : sales@abacomachines.com
Website : www.abacomachines.com






V. MAINTENANCE INSPECTION:

- Check and lubricate the wheels regularly.
- Clean the rubber pads.
- Store in cool and clean place.

VI. WARRANTY:

- Warranty term of Double Sided Slab Buggy is calculated from the
date of purchase and recorded on Warranty card.
- This warranty does not apply to machines, which, after our
inspection, are determined to have been damaged due to neglect,
abuse, overloading, accident or improper usage.

- In warranty time, your machines will be replaced spare part without
fee.

.OVERVIEW:

- Double Sided Slab Buggy is used to transport slabs safely and easily.
- Both of the A part and the base are fully rubber lined to protect slabs
from scratching, chipping and slipping.

- Compact designed to suit small work areas and doors.

ILSTRUCTURE:

- Double Sided Slab Buggy is made of steel.
- Slabs can be placed on both sides of the A-Frames.

SPECIFICATION:

Length (A): 5334” (1355mm)

Width (B): 31%2” (800 mm)

Height (C): 47 46" (1195 mm)

W.L.L: 660Ibs (300kg) per side - 1320Ibs (600kg) total

ol
N

g




‘(q¢ a1d) *A33nq ay3 SurAow 210J2q S[AAYM Y} JOO[U[] -

I11.LASSEMBLY DRAWING:




Appendix:

- Lock the gear wheels by pushing the pedal (pic 3a).

MAIN LIST

POS. DESCRIBE QTY. CODE
1 Washer @10x@22x1.5 18 DSBG1320-01
2 Nut M10 17 DSBG1320-02
3 Bolt M10 x 25 08 DSBG1320-03
4 Washer @10 11 DSBG1320-04
5 Washer @10x@22x2.5 16 DSBG1320-05
6 Rotation caster No.5 02 DSBG1320-06
7 Frame pad 01 DSBG1320-07
8 Rubber pad 08 DSBG1320-08
9 Bolt M10x90 06 DSBG1320-09
10 A Frame 1 02 DSBG1320-10
11 Bolt M10x60 03 DSBG1320-11
12 A Frame 2 01 DSBG1320-12
13 Connecting bar 01 DSBG1320-13
14 Rubber pad A frame 06 DSBG1320-14
15 External Circlip 04 DSBG1320-15
16 Washer @14x@20x0.5 04 DSBG1320-16
17 Hook connecting 02 DSBG1320-17
18 Band chain 02 DSBG1320-18
19 Wheel 3.50-6 02 DSBG1320-19
20 Washer @25x@35x1 04 DSBG1320-20
21 External Circlip 02 DSBG1320-21




IV. INSTRUCTION FOR USE

1. Requirement Note:

v’ Before operation:

- Check the rubber pads and wheels, if damaged, replace immediately.
- Oil the wheels for good performance.

v During use requirements:

- Make sure the slab's weight is not over the wheels' loading capacity.
- The slabs must be fixed to the frame during transportation.

- Check the wheels regularly for best performance.

v’ After operation:

- Clean and store the buggy when not in use.

- Store inacool place

2. Device Usage:

Step 1: How to handle the slabs on Double Sided Slab Buggy.
Distribute slabs equally on both sides.

Note: (Lock the wheels before placing the slabs on the

buggy- view appendix)

Use a couple of ropes to secure the slabs on the buggy tightly before moving. (Unlock the
wheels and use the handle and pull forward. —view appendix).

Step 2: Secure the slabs.




